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Pull out your unit circle. What two angles

between 0 and Zqr satisfy cos(x) = 1/27
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+ one of 2 anglcs
add 3007 or 217
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1. A damsel is in distress and is being held captive in a tower. Her knight in shining
armor is on the ground below with a ladder. When the knight stands 15 feet from
the base of the tower and looks up at his precious damsel, the angle of elevation to
her window is 60 degrees. How long does the ladder have to be?
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2. You are 200 yards from a river. Rather than walking directly to the river, you walk
400 yards along a straight path to the river's edge. Find the acute angle between
path and the river's edge.
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1. A damsel is in distress and is being held captive in a tower. Her knight in shining
armor is on the ground below with a ladder. When the knight stands 15 feet from
the base of the tower and looks up at his precious damsel, the angle of elevation to
her window is 60 degrees. How long does the ladder have to be?
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2. You are 200 yards from a river. Rather than walking directly to the river, you walk
400 yards along a straight path to the river's edge. Find the acute angle between
path and the river's edge. \
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A 1émeter flagpole casts a 9 meter shadow._Eind the angle of elevation of the sun.
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4. Suppose you're flying a kite, and it gets caught at the top of the tree. You've let out
all 100 feet of string for the kite, and the angle that the string makes with the ground
is 75 degrees. Instead of worrying about how to get your kite back, you wonder.
“How tall is that tree?”
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